1. (Bx—4y-3)+ (x—2y-3)<& tds] otH?

® 2x-3y+6 @ 2x-2y+4 ® 4x-4y-6
@4x—6y—6 ® 4x-6y+6

(Bx—4y-3)+ (x—2y-3)
=3x-4y-3+x-2y-3
=4x—-6y—6




2.

o[ Jerel guke 42

- [4x—2y— {x— (3x+|:|)} +5y] =—6x—-Ty

@4y @ -4y ® 3y @ -3y

@y

B
- [4x—2y— {x— (3x+|:|)} —|—5y]
:—{4x—2y— (—2x—\:|) +5y}

(oxtaye )

—6x — 3y —

—6x— Ty

2 ]=-6x-3y+6x+Ty=4y
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4. A (¥ -2x+6) + (2% - 3x + 4) & 7hHs] s5HE?

® x%2-3x+10 @ 2x> - x+10 ® 3x2-5x+6

@3x2—5x+ 10 ® 3x2+5x+10

(x* = 2x+6) + (2x2 —3x +4)
=x2-2x+6+2x>2-3x+4
=3x%2-5x+ 10
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(Bx2—ax-T)— (x> +2x+b) =cx? +5x—4

@ 7 @ 5 ®@-5 @-s ©-9

B ~

(FH) =3x2—ax-7-x>-2x-b
=2x2—(a+2)x-(7T+b)
=cx?+5x—4

2=c¢,—(a+2)=5—-(7T+b)=-4

La=-T7,b=-3 ¢c=2

webH, a+ b + c = -8 oIk,




6. (3x-5)(2x+3)=Ax>+Bx+ColA 45T A, B, COIFA+B+C
o] gh2?

@ -12 @ -1 @—10 @ -9 © -8

B \
(3x - 5)(2x + 3)
= 6x% + 9x + (—-10x) + (-15)
=6x2—x-15
LA+B+C=6+(-1)+(-15) =-10




2% —{—y(y — 4) + 4} & 7r5| g Ao A 2 213} 0] A& a 2 oF,
ATSES eSS, a+b-c 9 TS

“Fotoit,
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EA) =22 - (—y*+4y+4) =3y* —4y—-4
“a+b-c=3-4-(-4)=3




A4 A, B, C ol tisto] —(2x% 4+ 7x) 4+ (x®* + 9x—4) = Ax* + Bx+ C

A~

T
A o, A+ B+ C 9] = 75tk
=

oH =

>
|> HMek: 3

B ~

—(2x% 4+ 7x) + (x> + 9x - 4)
=-2x> - Tx+x>2+9x—4
=-—x>+2x-4

Z Ax?2 4+ Bx+ C = —x2 + 2x — 4 o]t}
Tt A=-1, B=2, C=-40|B&
A+B+C=(-1)+2+(-4) =-3
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® (a-3)(b+7)=ab+Ta-3b-21

@ (2x—y)(3x + 5y) = 6x2 + Txy — 5y?
® (2x+y)(3x + 2y) = 6x% + Txy + 2y?
@ (3a+ 4b)(2a - b) = 6a® + bab — 4b>

(@)(2x+y)2 = 4x% + 2xy + y?

B

@ (@a-3)(b+7) =ab+Ta-3b-21

@ (2x—y)(3x + 5y) = 6x2 + Txy — 5y°
® (2x +y)(3x + 2y) = 6x% + Txy + 2y?
@ (3a + 4b)(2a — b) = 6a> + 5ab — 4b*
® (

2x +y)? = 4x? + 4xy +y?
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2x+y x-3y

3(42x +) —34(x - 3y)

_ 6x+3y 2 + 12y

_ 2x+ 15y12_ lx—i-?
=T 12 Ty




